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1. Definition:
(1) p-value

(2) aerror

(3) Power of testing
- (@95%Cl

(5) hypothesis testing

2. Ina country, the number of subjects who died from AIDS in last year is 100, what is the 95%
C.I of the mean value per year?
]

3. An allergy research team conducted a study in which two groups of subjects were used. As
part of the research, blood eosinophil determinations were made on each subject with the
following results: Let a=.05.

Eosinophil value (no./mm°)

Group Sample size X S
A 11 600 25
B 16 700 20

Do these data provide sufficient evidence to indicate that:
(1) The population variances are different?

e

(2) The population means are different?

fu

£ (2 = | Y =



AR /

w| # B & ¥ kK ®

BF
&#ﬂ@%&aﬁh(
&

* — ¥
/z = A/ \%é\/2 %\ f?% y’%\ I/ % )
HROMIBEXHEE | 2 3. ] TERZHA!

4
OB BMBER T (W) - (#8) o

B B
ag./ i

4. Researchers wish to know if
with respect to the prevalence

urban and rural adult residents of a developing country differ
of blindness. A survey revealed the following information: -

. Number Number in
Group Number blind non-blind sample
Rural 24 176 200
Urban 15 85 100
By x° test, these data provide sufficient evidence to

prevalence of blindness in the two populations? Let ¢ = .05,

11.4~127.0] from knowledge
y=-187.86+2.99x and

following question. s
(1) How explain the coefficient of regression?

(2) Fill blanks in following table.

indicate a difference in the

Among the measurements taken on each of 37 subjects were deep
CT and waist circumference, We can predict and estimate deep abdominal AT [y:
of waist circumference [X; 63.5~1

the ANOVA table shown as following. Please answer the

Source of variance 'S§  df Mg F_ p-value
Regression 20784.5(dfr) ( MSr ) (F) s5.2X%10™M
Error ( SSe )(dfe) ( Mse )
Total 29162.2 36
SSe=( ) [Calculation]:
df=(_______ )
dfe=( )
MSr=( )
MSe=( )
F=(__ )

(3) Calculate the coefficient of determinant (%),

(4) State which is meant of *?

(5) How large the critical value of F ?
Answer : (

(6) What is your conclusion?

abdominal AT obtained by

02.0cm] with a regression as
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F.95 table

Tables

a1 ‘

d 1 2 3 4 5 10 | 15 | 35 | 60 | 120 | o
1 161.45 | 199.50 | 215.71 224,58 | 230.16 | 241.88 245.95 1 250.69 | 252.20 253.25 | 254.32
2 13.51 19.00 19.16 19,25 19.30 19.40 19.43 19.47 1948 19.49 19.50
3 10.13 9.55 9:28 9.12 9.01 8.79 3.70 8.60 8.57 8.55 8.53
4 7.71 6.94 6.59 6.39 6.26 5.96 5.86 573 5.69 5.66 5.63
5 6.61 5.79 541 519 5.05 474 462 448 4.43 4.40 436
10 496 4.10 an 348 kEX] 2.98 2.85 2.68 2.62 2.58 3.67
15 4.54 3.68 3.29 3.06 2.90 2.54 2.40 2.22 2.16 2.11 i

35 412 327 2.87 2.64 2.49 B Y1 1.96 1.76 1.68 1.62 293

60 4,00 3.15 2.76 253 237 1.99 1.84 1.62 1.53 1.47 2.71

120 392 3.07 2.68 245 229 1.9} 1.75 1.52 1.43 135 2.54
oo 3.84 3.00 2.60 237 221 2.10 2,01 1.94 1.88 1.83 1.00

F 975 table
df1
df2 1 2 3 4 5 10 15 30 60 | 120 oo
1 647.79 | 799.48 864.15 | 899.60 921.83 | 968.63 984.87 | 1001.40 1009.79 | 1014.04 1018.26
2 38.51 39.00 39.17 39.25 3930 | 39.40 39.43 39,46 39.48 39.49 39,50
3 17.44 16.04 15.44 15.i0 14,88 14.42 1425 14,08 13.99 13.95 13.90
4 12.22 10.65 9.98 9.60 9.36 8.84 8.66 8.45 836 831 8.26
5 10.01 843 1.76 739 17.15 6.62 6.43 6.23 6.12 6.07 6.02
10 6.94 546 4.83 4.47 424 3.72 352 3 3.20 3.14 3.08
15 6.20 477 4.15 3.80 3.58 3.06 2.86 2.64 252 246 240
30 5.57 4.18 3.59 3.2s8 3.03 2.51 231 207 194 1.87 1.79
60 5.2% 3.93 334 3.01 2.79 227 2.06 1.82 1.67 1.58 1.48
120 515 3.30 323 2.89 2.67 2.16 1.94 1.69 1.53 1.43 131
L_oi 5.02 3.69 3.12 2.79 2.57 2.08 1.83 1.57 139 1.27 1.00
t table
ar t90 tos to7s toe ts0s t.999
1 308 631 127 31.82 63.66 31829
2 1.89 292 430 6.96 9.92 2233
3 1.64 23S 3.18 4.54 5.84 10.21
4 1.53 2.13 2.78 3.75 4.60 717
5 1.48 2.02 2.57 3.36 4.03 5.89
6 144 1.94 248 314 N 5.21
7 141 1.89 236 3.00 3.50 4,79
‘8 1.40 1.86 231 2.90 336 4,50
9 1.38 1.83 226 2.82 3.2 430
10 1.37 1.81 2.23 2.76 317 4.14
15 1.34 178 213 2.60 2.93 3.73
30 131 1.70 2.04 246 275 339
120 1.29 1.66 1.98 236 262 3.16
oo 1.28 1.65 1.96 233 2.58 3.09
2
X © table
df
X 20.025 X 2o.os X 2o.9s X 20‘975 X 20.99

1 0.00 0.00 384 $.02 6.63

2 0.05 0.10 5.99 7.38 921

3 0.22 0.38 7.81 9.35 1134

4 0.48 o 949 .14 13.28

S5 0.83 1.15 11.07 12.83 15.09

6 1.24 1.64 12.59 14.45 16.81

7 1.69 217 14.07 16.01 18.48

8 2.18 273 15.51 17.53 20.09

9 2.70 333 16.92 19.02 21.67

10 325 394 1331 2048 23.21

15 6.26 7.26 25.00 27.49 30.58

20 9.59 10.85 3141 34.17 37.57
30 16.79 18.49 43.77 46,98 50.89
40 2443 26.51 55.76 $9.34 63.69
60 40.48 43.19 79.08 2330 88.38
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